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Bandwidth of GI-POF (A4)) for auto
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Bandwidth with inline connection (A4)) AGC
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» Original fiber length is 15 m

» Optical -3dB bandwidth was measured by adding LC connectors one by one

» Producing higher connection loss, razor cutting was applied for fiber end
termination.

» Objective: 25Gbps over 15m with two connections, 10Gbps or less 15m with
three connections



Conclusion AGC
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 Optical -3dB bandwidth vs. length relationship was investigated
with GI-POF A4j for automobile

« BW-~LY:yshowed0.77 ~1 with OFL launch
e More than 20GHz of bandwidth was observed at 15 m

« Bandwidth at 15 m was also measured with up to three inline
connections.

« More data may be needed, but significant bandwidth degradation
was not observed
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Example of bandwidth of GI-POF(A4i)
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Time domain:
OFL launch

https://www.ieee802.org/3/dh/public/July 2022/Watanabe 3dh_02_ 2207.pdf
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Example of bandwidth of GI-POF(A4i)
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